A £ 0l & AF & S

Al A

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OtsEAE 88,463,721 81,894,108 6,569,613
= 41,172,709
Jl 1,570,218
= 17,680,905
Al 28,039,889
OtOIDt =8t SXIAHIA MBS 67,087,428 61,422,679 5,664,749
= 39,675,211
) 308,722
= 9,997,848
Al 17,105,647
Ols=XIAIE XI& 14,608,828 12,177,826 2,431,002
= 4,724,665
< 3,614,975
Al 6,269,188
StEsSH el2dl X 105,876 99,252 6,624
= 26,469
== 26,469
Al 52,938
307 212+01& 105,876 99,252 6,624
= 26,469
S 26,469
Al 52,938
05 212+ =S 105,876 99,252 6.624
Ostu=sH o128 XI&
105,876,000 105,876
= 26,469
= 26,469
Al 52,938
stussH JIEtEEH XA 48,000 48,000 0
= 12,000
= 12,000
Al 24,000
307 gl2to| & 48,000 48,000 0
= 12,000
= 12,000
Al 24,000
05 212t S 48,000 48,000 0
OstESH JIEt23Hl X
48,000,000 48,000
= 12,000
= 12,000
Al 24,000
CIetNEsdE £Xdl X 255,000 230,000 25,000




FA OlsEAE
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 120,000
=S 52,500
Al 82,500
401 Al HIZ R 0HbI 255,000 230,000 25,000
= 120,000
= 52,500
Al 82,500
01 AlZH| 255,000 230,000 25,000
OtgNssae Xl A&
255,000,000 255,000
= 120,000
= 52,500
Al 82,500
CHEtNESHE JIXHEl X2 90,000 80,000 10,000
= 90,000
402 2IF X201 & 90,000 80,000 10,000
= 90,000
02 RIINEASEZ(0IETHR) 90,000 80,000 10,000
OCENSSHEH JIXHHEl K&
90,000,000 90,000
= 90,000
CHENESsSdE i8] X 902,000 593,344 308,656
= 451,000
S 225,500
Al 225,500
307 @120l & 902,000 593,344 308,656
= 451,000
= 225,500
Al 225,500
05 2I2tRIE =S 902,000 593,344 308,656
OUgNssaE bl K&
902,000,000 902,000
= 451,000
= 225,500
Al 225,500
CrENE=SdE 18] =Jt XI& 69,449 0 69,449
=S 19,610
Al 49,839
307 21201 & 69,449 0 69,449
< 19,610
Al 49,839
05 2ItRIE = 69,449 0 69,449
OtigHEsdE 2lb| =Jt X
69,449,000 69,449




FA OlsEAE
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 19,610
Al 49,839
CietssdE 22dl X2 264,000 224,000 40,000
= 66,000
< 33,000
Al 165,000
307 lztol & 264,000 224,000 40,000
= 66,000
== 33,000
Al 165,000
05 2ItRIE= 264,000 224,000 40,000
Otighnss4dH 244l XA
264,000,000 264,000
= 66,000
== 33,000
Al 165,000
CrENEsSdE 2EAI2t 2 X3 21,384 0 21,384
= 10,637
s 5,319
Al 5,428
307 @I2t01 & 21,384 0 21,384
= 10,637
= 5,319
Al 5,428
05 212+ =S 21,384 0 21,384
OUEN=SHEH S2SAIZH 3F NE
21,384,000 21,384
= 10,637
= 5,319
Al 5,428
Ciet=sSdEe =S5 173,280 145,044 28,236
== 51,624
Al 121,656
307 212+01& 173,280 145,044 28,236
< 51,624
Al 121,656
05 21t =2 173,280 145,044 28,236
OtiglssdH =328 N
173,280,000& 173,280
= 51,624
Al 121,656
Ciel=sde otsss 2218 A& 24,000 21,600 2,400
== 7,200
Al 16,800




2A:
PSR
ool

o
=}
N
02
J
fol
J
>

IMEIA RIS

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
307 212+01 A 24,000 21,600 2,400
& 7,200
Al 16,800
05 QIZtRIEIS 24,000 21,600 2,400
OUENSZHE OlESE T2 X
24.,000,000& 24,000
= 7,200
Al 16,800
CIENESSHIE SAtL E22Y 42,000 26,250 15,750
= 12,600
Al 29,400
301 LetENEZ 42,000 26,250 15,750
& 12,600
Al 29,400
2 A EREAFH2(HAAS, L) 42,000 26,250 16,750
OCHEINSSUE BAK S42949
42,000,000 42,000
= 12,600
Al 29,400
Clet=s4dH SAEL M| 7,200 4,200 3,000
= 7,200
301 LPENZ 7,200 4,200 3,000
& 7,200
02 MBI EZAGS(HUAS, XLTHEA) 7,200 4,200 3,000
OUENSSHEH SALL M<MAL]
7,200,000& 7,200
& 7,200
KS0otsHlE el I 4,778,000 0 4,778,000
= 2,389,000
= 1,194,500
Al 1,194,500
307 QIZ2t01A 4,778,000 0 4,778,000
= 2,389,000
& 1,194,500
Al 1,194,500
10 Al S XA EEHE2IHIE X 4,778,000 0 4,778,000
OXIZOLSHE 0124t XI(2)
4,778,000,000& 4,778,000
= 2,389,000
& 1,194,500
Al 1,194,500
KH0otsHlE el =ItXI& 1,106,470 0 1,106,470
= 320,450
Al 786,020




A OlsEAEDL

M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 1,106,470 0 1,106,470
= 320,450
Al 786,020
10 Al SXAAEEHE2EHI2x 1,106,470 0 1,106,470
OXS0tsHE elAd] =IOt
1,106,470,000& 1,106,470
=S 320,450
Al 786,020
NSotsdlEe! 22Hl XA OI22gH], FI124]) 1,074,384 0 1,074,384
= 537,192
S 268,596
Al 268,596
307 @I2t01 & 1,074,384 0 1,074,384
= 537,192
= 268,596
Al 268,5%6
10 Al SXAEEHE 22X 1,074,384 0 1,074,384
OXSotsHIE JI222dl X
990,384,000 990,384
= 495,192
= 247,596
Al 247,5%6
OXSotsHy =ot=gdl A&
84,000,000 84,000
= 42,000
= 21,000
Al 21,000
XSotsHlE 221 XI&(Al) 127,800 348,600 220,800
307 @I2t01 & 127,800 348,600 220,800
10 Al SXAEEE 22X 127,800 348,600 220,800
OXIH0otsHlE 24| =0t X (Al)
127,800,000 127,800
S48 XotsHE =Jt X3 124,320 135,600 211,280
= 62,160
== 31,080
Al 31,080
307 212+01& 124,320 135,600 A11,280
= 62,160
=S 31,080
Al 31,080
10 Al SXAEEE 22X 124,320 135,600 211,280
OXIHOISHE S42XE F0t N2
74,400,000 74,400
= 37,200




A OtsEAED
2 01010t =8t SAIMEIA HS
&2 OtE=AIAIE XI& (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 18,600
Al 18,600
ONOISME ERSH It X
49,920,000 49,920
= 24,960
= 12,480
Al 12,480
ZSE NSFotsHEH K& 78,912 63,09 15,816
& 23,674
Al 55,238
307 212+01™ 78,912 63,096 15,816
T 23,674
Al 55,238
10 MG SXAIEHE2ZHIEXR 78,912 63,096 15,816
OXlYotsHE HolsSe 28 N
78,912,000& 78,912
= 23,674
Al 55,238
XEotsdle SIEdns 2AL XA 144,000 115,200 28,800
& 43,200
Al 100,800
307 212+01™ 144,000 115,200 28,800
T 43,200
Al 100,800
10 Al = XAEHE2FHIE X 144,000 115,200 28,800
OXIH0otsHE SIIEL nsTA X
144,000,000& 144,000
= 43,200
Al 100,800
XG0S SsWAt XI& 883,260 891,994 A8, 734
& 440,298
Al 442,962
307 212+01™ 883,260 891,994 AB,734
T 440,298
Al 442,962
10 Al = XA EHE2FHIE X 883,260 891,994 N8, 734
OXNS0tsHE =3WA XI&A
883,260,000 883,260
= 440,298
Al 442,962
NS 0otsHEH SAER0] elAHE] XA 329,400 334,800 A5,400
307 212+01 A 329,400 0 329,400
10 Al =S XA EEER2IHIE X 329,400 0 329,400




FA OlsEAE
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXOISHE SAES0l AL 2
329,400,000 329,400
ASotsSHE eZod X 40,000 90,000 50,000
= 20,000
= 10,000
Al 10,000
402 QI2F X201 & 40,000 90,000 250,000
= 20,000
[ 10,000
Al 10,000
02 QI X2 AL EE(OIHTHE) 40,000 90,000 50,000
OXIHOLSHEl 244 TA(XTH L &
eIAld) 30,000,000 30,000
= 15,000
& 7,500
Al 7,500
OXIotsHE 22ZME XIAOHLIAIE)
10,000,000 10,000
= 5,000
== 2,500
Al 2,500
XotsHE IRl X2 (RI2ERH201H) 44,000 40,000 4,000
402 2I2F X201 & 44,000 40,000 4,000
01 QI X2 AL E A (KEHITH) 44,000 40,000 4,000
OXIS0otSHE! JIAMEl K&
2,000,000 220 2 44,000
NS 0tSHE MEesHl X3 90,550 92,500 A1,950
== 27,165
Al 63,385
307 212+01& 90,550 92,500 21,950
< 27,165
Al 63,385
11 AMEISXAEEES 90,550 92,500 1,950
OXZotsHE MEgasHl X
90,550,000& 90,550
= 27,165
Al 63,385
NSOISHE SAEL SEdat 5,000 5,000 0
307 @I2t01 & 5,000 5,000
02 QB HANSEER 5,000 5,000
OXISOtSHE SAHAF /I3&
5,000,000 5,000
NSOotSHE =22t AL X2 10,000 10,000 0
307 lztol & 10,000 10,000 0




2A:

3 001+ =gt SXMEIA HS
l: OFS=XIAIE X CHe M)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
02 LB HAHE X 10,000 10,000 0
OXl&otsH !
10,000,000 10,000
NS 0tsHE SAL S22 241,200 445,800 A204,600
=S 72,360
Al 168,840
301 LEtE NS 241,200 445,800 A204,600
== 72,360
Al 168,840
02 A2l 28H KILTH) 241,200 445,800 A204,600
OXI0IS A R4g N
241,200,000 241,200
= 72,360
Al 168,840
NSOotSHE 2t 19,449 19,014 435
= 5,835
Al 13,614
201 fer=3| 19,449 19,014 435
== 5,835
Al 13,614
2 35244l 19,449 19,014 435
OXl&iotsH MHIA OI22
19,449,000 19,449
= 5,835
Al 13,614
OtsS=SXIWAL It X 1,440 2,640 21,200
202 0o4dl 1,440 1,440 0
01 =LHOHI 1,440 1,440 0
OXISOtSHIE OtS=XIWAL 04|
60,0002 x2& 122 1,440
ELROISSEAEA 338,270 338,270
307 212+01& 338,270 338,270
10 At2I = XIAl 338,270 338,270
OsUR0tES
338,270,000 338,270
OlsaE s SAHL Ex2R% 12,000 12,000 0
= 3,600
Al 8,400
301 EtE2 NS 12,000 12,000 0
=S 3,600
Al 8,400
02 Al 2EH . AISTHE) 12,000 12,000 0
O0tsSa g4 S S=22+8 XIE
12,000,000 12,000




FA OlsEAE
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 3,600
Al 8,400
SSdEHE gH2Es 510,075 487,095 22,980
= 204,030
< 45,907
Al 260,138
307 lztol & 510,075 487,095 22,980
= 204,030
== 45,907
Al 260,138
10 Al2ISTIAIEEE2HIE X 510,075 487,095 22,980
Ossdaitd 188 gl=E=
510,075,000 510,075
= 204,030
== 45,907
Al 260,138
SSHEIE Q12| FIHXIZ 36,705 0 36,705
= 11,012
Al 25,693
307 elztol & 36,705 0 36,705
= 11,012
Al 25,693
10 Al SAAEEHE 22X 36,705 0 36,705
OssdaIty eldd FHd
36,704,247 36,705
s 11,012
Al 25,693
SSHENE FAERSOtS AHEXIH 2,224 2,224 0
= 1,557
=S 100
Al 567
307 21201 & 2,224 2,224 0
= 1,557
= 100
Al 567
1 AMISXAIEEXS 2,224 2,224 0
OssdaIHd ZAENs0s HEAA
2,224,000 2,224
= 1,557
= 100
Al 567
SSHEIE OIsSXA(E) 63,288 78,060 AN14,772
== 18,986
Al 44,302




2A:

M Ol01Jt =8t SXAHIA KIS
o OIS=EXIAIE X3 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 63,288 78,060 AN4,772
= 18,986
Al 44,302
11 AMEISXAIEEXS 63,288 78,060 AN14,772
Ossdatd Ots es2s NE
63,288,000 63,288
=S 18,986
Al 44,302
SSHEHE ot K& 12,600 12,600 0
307 212+01& 12,600 12,600
11 AMEISXAEEES 12,600 12,600
OSSHEIIE Ot 2etdEt|
4,200,000 4,200
OSSMEIIE Ot 2HAHI NI
8,400,000& 8,400
OISL=AIE SAA E22E 34,200 33,000 1,200
== 10,260
Al 23,940
301 22N = 34,200 33,000 1,200
< 10,260
Al 23,940
2 ABl 2R EAH S (HAHS, NLM) 34,200 33,000 1,200
OZSMENY BAK S+224g
34,200,000& 34,200
= 10,260
Al 23,940
OlS=XAIE SAHA X214 | 121,800 126,000 A4,200
== 121,800
301 EtE N = 121,800 126,000 24,200
= 121,800
02 ANRI2HHSHS(HAAS, NLHE) 121,800 126,000 24,200
OO0IS=RIAIE SAEG MSIHAHI 121,800
—OISESdEI|12 SAHA MM
18,000,000 18,000
= 18,000
—SURHEL SAH MLIHEH|
4,200,000 4,200
= 4,200
—SSHEIE SAHA MM EH|
9,000,000& 9,000
= 9,000
— XIS O0LSHE SAHA M4 &H|
90,600,000 90,600
= 90,600
OlS=SAIE SAHAL SE2=E XI& 289,600 0 289,600




A OlsEAEDL
i 0t0IJt =8t

J
b
x
=2
>
>
0K

el OlssEXAE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 289,600 0 289,600
02 A2 EH 2GS (FHAAHS, XNLWE) 289,600 0 289,600
OO0ISSSAIE SAL 285 X 289,600
—LEN=8dEH SAL S22 Ad
800, 0002 x22|* 18 28,800
—XS0tsSdEH SAIL EE=E X
800,000 x22| 148 236,800
—SSHEIE EMA BEE X
800, 000& 22|+ 15H 24,000
Ar2l=2015 2t 97,440 97,440
301 EtE NS 97,440 97,440
10 M=SRREES 97,440 97,440
OMIERRE 243(S54H)
7,000 x58E*x202 * 12 97,440
sttiors2sXxI=4| XI& 10,000 10,000 0
307 212+01& 10,000 10,000
11 AMEISXAEEES 10,000 10,000
OstotsESXIZHIXIR
10,000,000& 10,000
ANEotsEsd=z)|2 2 1,089,753 1,015,802 73,951
= 544,876
S 272,439
Al 272,438
307 glztol & 1,089,753 1,015,802 73,951
= 544,876
S 272,439
Al 272,438
05 2ItRIE = 1,089,753 0 1,089,753
Oots2sdzl12 2¢
1,089,753,000& 1,089,753
= 544,876
== 272,439
Al 272,438
NHotsES d2J12 2(5) 144,019 135,523 8.,4%
= 43,206
Al 100,813
307 elztol & 144,019 135,523 8.4%
= 43,206
Al 100,813
05 212+ =S 144,019 0 144,019
OotsEsdEII2 2(%)
144,019,000& 144,019
== 43,206
Al 100,813




2A:

M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NHotsEsd2I|2 28 2| FIKA(E) 42,446 0 42,446
= 12,734
Al 29,712
307 el2to| & 42,446 0 42,446
= 12,734
Al 29,712
05 212t =S 42,446 0 42,446
OO0tsE2sd &I 2128 It
42,446,000 42,446
== 12,734
Al 29,712
OISESdEI2 SAL S#22+E 40,200 42,600 A2,400
= 12,060
Al 28,140
301 EtE N = 40,200 42,600 2,400
= 12,060
Al 28,140
02 AR 2HHLFS(HAAS, XNLHE) 40,200 42,600 A2,400
OOISEEHSI|T BAX S+224Y
40,200,000 40,200
== 12,060
Al 28,140
stiimlioliotsae=2g 474,364 459,108 15,256
= 189,744
== 142,310
Al 142,310
307 212+01& 474,364 459,108 15,256
= 189,744
= 142,310
Al 142,310
10 AlRISXAEEE 22X 474,364 459,108 15,256
OstiulohotsaH =4l
474,364,000 474,364
= 189,744
= 142,310
Al 142,310
SHHTIGHOlsSEE XA (%) 39,660 52,880 13,220
< 11,898
Al 27,762
307 212+01& 39,660 52,880 213,220
& 11,898
Al 27,762
10 Al SXAEEHE2EHI2x 39,660 52,880 13,220




A OtsEAED
2 01010t =8t SAIMEIA HS
&2 OtE=AIAIE XI& (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Osttilloliots&H XA (%)
39,660,000 39,660
& 11,898
Al 27,762
stjmlchotsaE 2148l FIOX(E) 12,410 0 12,410
& 3,723
Al 8,687
307 QIZt01 A 12,410 0 12,410
= 3,723
Al 8,687
10 IS SXAIEHE2ZHIER 12,410 0 12,410
Osttimlsiotsa " el F=IHX&
12,410,000 12,410
& 3,723
Al 8,687
SN TIcHOts & SAA M <SIHAb| 7,200 7,200 0
T 7,200
301 LPENS 7,200 7,200 0
& 7,200
02 ANSIBEEH2(FHLHS, NSME) 7,200 7,200 0
OstiulaiotsaH SAHAH M<IH&L]
7,200,000& 7,200
T 7,200
SIHIoHOts&EH SALAL S22 25,200 27,000 21,800
= 7,560
Al 17,640
301 LetEHZ 25,200 27,000 21,800
T 7,560
Al 17,640
02 MBI EZASGS(HUAS, XLTHA) 25,200 27,000 21,800
O UIliOlsaH SALL Ex2R2E
25,200,000 25,200
& 7,560
Al 17,640
S TIoHOorsS & e EXI (XAl 105,000 0 105,000
401 A& HILS0HY| 50,000 50,000
01 AlEHI 50,000 50,000
Osttiulaiotsa e (040}) 22
50,000,000 50,000
405 KHHESH| 25,000 25,000
01 XML =ZFSHI 25,000 25,000
OsttIloliotS & E (001 23
25,000,000 25,000
406 JIEFRH=01H 30,000 0 30,000




FA OlsEAE
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 JIEFRH=01H 30,000 0 30,000
OstUaiotSEE (00} LXNESS
30,000,000& 30,000
Ots2s X3 52,478,600 49,244,853 3,233,747
= 34,950,546
Il 308,722
== 6,382,873
Al 10,836,459
2ES0ts X 8,180 8,180 0
301 2eEN= 7,680 7,680
02 A2 EH LGS (FHAAS, W) 7,680 7,680
S-CENER-EEEE
7,680,000 7,680
307 el2to| & 500 500
01 22X +&H| 500 500
OREsSls /EEsH| 500,000 500
ZAIRE d20ts2=H] X 13,500 26,929 13,429
= 9,450
= 607
Al 3,443
301 EtE N = 13,500 26,929 A13,429
= 9,450
S 607
Al 3,443
01 A2 HSFS(RNEERTHE) 13,500 26,929 13,429
OgAIRIE dE0lsE3H X2
13,500,000 13,500
= 9,450
& 607
Al 3,443
2AIRE OlsE8S8 N2 3,000 3,000 0
= 2,100
= 135
Al 765
301 EtE NS 3,000 3,000 0
= 2,100
== 135
Al 765
01 ARSI 2E A S(SRNEXME) 3,000 3,000 0
OZAIRE OtsES37228l A&
3,000,000& 3,000
= 2,100
== 135
Al 765
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SA: OIS EAED
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 682,416 752,001 69,585
Ootsgg X2A= X&H
682,416,000& 682,416
= 477,691
< 30,709
Al 174,016
2SEI0ts NME==E X 638,400 388,800 249,600
= 510,720
[ 19,152
Al 108,528
301 EtEE S 638,400 388,800 249,600
= 510,720
== 19,182
Al 108,528
01 Al 2E AT S(SREXME) 638,400 388,800 249,600
OESZR0IE NR4+E X8
638,400,000 638,400
= 510,720
s 19,182
Al 108,528
ElA0ts A EE= 270,000 225,000 45,000
& 81,000
Al 189,000
301 EtE NS 270,000 225,000 45,000
= 81,000
Al 189,000
02 A2 A LGS (FHAAHS, NSWE) 270,000 225,000 45,000
OElA0ts NEEES 270,000,000 270,000
= 81,000
Al 189,000
NAS0ts &eld8A Xzl A1 40,320 40,320 0
301 22N 40,320 40,320
02 ARSI 2E AT S(FIAANS, XLETHE) 40,320 40,320
OMa2S0ts deldA Xzdl X
12,0002 x30E < 12& 40,320
ZA0tEs 24 X (FeH01FeH+E e E) 6,464,280 4,710,174 1,754,106
= 1,939,284
Al 4,524,996
301 EtE N = 6,464,280 4,710,174 1,754,106
= 1,939,284
Al 4,524,99%
02 ARSI SEHS(FIANE, XLETHE) 6,464,280 4,710,174 1,754,106
OZAIOISDAIKIR (31 BHOI e 8t E)
6,464,280,000& 6,464,280




SA: OIS EAED
S Ol01JH =8t SXAHIA KIS
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